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 Christianity: Beliefs  

 

 

0 1 
 

. 1 
 

Which one of the following is not a means of salvation? 

 [1 mark] 

  Put a tick () in the box next to the correct answer. 

   

  

A Law 
 

 

B Grace 
 

 

C Sin 
 

 

D Spirit 
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. 2 
 

Give two Christian beliefs about Jesus’ Ascension. 

 [2 marks] 
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. 3 
 

Explain two ways in which belief in the Trinity influences Christians today. 

 [4 marks] 
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. 4 
 

Explain two Christian beliefs about the causes of sin. 
 

Refer to sacred writings or another source of Christian belief and teaching in your 

answer. 
[5 marks] 
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. 5 
 

‘God cannot be loving because people suffer.’ 

 

Evaluate this statement.  

 

In your answer you should: 

• refer to Christian teaching 

• give reasoned arguments to support this statement 

• give reasoned arguments to support a different point of view 

• reach a justified conclusion. 

 [12 marks] 

[SPaG 3 marks] 
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